
Verbal Reasoning – Explore the facts - Read the following statement, then choose the correct 
answer from the four choices available. 
 

1. Mattie, Jake and Sue buy some fruit from the greengrocers. They each have £2.00 to spend. 
Apples cost 30p and oranges cost 40p. After they had bought their fruit, Mattie had 20p change, 
Jake had 70p change and Sue had 10p change.  
Using this information decide which of the following statements is true. 

• Sue had more pieces of fruit than Mattie. 
• Jake definitely bought only one orange. 
• Mattie definitely had 3 oranges. 
• Sue definitely bought 4 oranges. 

 
2. Ryan does not have blue eyes. Darshan does not have green eyes. Grace has brown eyes. 

Sarah's eyes are not blue and not the same colour as Ryan's. Grace has the same colour eyes 
as Ryan. Darshan's eyes are not the same colour as Ryan's or Grace's.  
Using this information decide which of the following statements is true. 

• All the children have brown eyes. 
• 3 of the children have blue eyes. 
• 2 of the children have brown eyes. 
• Darshan has green eyes. 

 
3. Daniel is half as old as Surita, who is two years older than Christopher. Ashley is 1 year older 

than Surita was 2 years ago. Christopher is 10.  
Using this information decide which of the following statements is true. 

• Christopher is the oldest. 
• Surita is the oldest. 
• Daniel is the oldest. 
• Ashley is the youngest. 

 
4. Bedisa, Andrew, William, Julie and Sarah met while on holiday with their parents and took part in a 
range of fun activities. Julie did all activities. All the girls and Andrew took part in face painting. Andrew 
and Sarah were the only ones not to do banana boating. Julie, Sarah and Andrew did archery. Other 
than Julie, only Andrew did paintball.  
Using this information decide which of the following statements is true. 

• Sarah did banana boating 
• William did paintball. 
• Andrew did not do archery. 
• Julie did paintball. 

 
5. William swam 100 metres in 58 seconds, which was 10 seconds slower than Samantha. Isabella 
swam half as fast as William, and Anthony finished four seconds before Isabella.  
Using this information decide which of the following statements is true. 

• Isabella's time was 1 minute 56 seconds. 
• William's time was 1 minute 56 seconds. 
• William's time was 1 minute 50 seconds. 
• William finished last. 
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